R A IEA ﬁ =0 Moltiplica i decimali per 10,100,1000

Nome: Data: Punteggio:
7, 147 x 1000 = 9, 824 x 1000 =
6,178 x 10 = 6,035 x 1000 =
3,312 x 10 = 5,508 x 1000 =
3,986 x 1000 = 8,731 x 100 =
10, 509 x 100 = 6,632 x 100 =
3,551 x 100 = 9,584 x 100 =
2,672 x 100 = 9, 839 x 1000 =
5,103 x 10 = 10, 952 x 1000 =
5,437 x 10 = 8,288 x 1000 =
7,036 x 1000 = 1,265 x 1000 =
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s ;& I ﬁ - Moltiplica i decimali per 10,100,100

Nome: Data: Punteggio:
7,147 x 1000 = 7147 9, 824 x 1000 = 9824
6,178 x 10 = 61.78 6,035 x 1000 = 6035
3,312 x10=33.12 5,508 x 1000 = 5508
3,986 x 1000 = 3986 8,731 x 100 = 873.1
10, 509 x 100 = 1050.9 6,632 x 100 = 663.2
3,551 x 100 = 355.1 9,584 x 100 = 958.4
2,672 x 100 =267.2 9,839 x 1000 = 9839
5,103 x 10 =51.03 10,952 x 1000 = 10952
5,437 x 10 = 54.37 8,288 x 1000 = 8288
7,036 x 1000 = 7036 1,265 x 1000 = 1265
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